

**From:** Heather Rose  
**Sent:** Friday, January 16, 2026 5:39 PM  
**To:** Ivan Vila <[ivila@visualscapeinc.com](mailto:ivila@visualscapeinc.com)>  
**Cc:** Jose Quintero <[jquintero@visualscapeinc.com](mailto:jquintero@visualscapeinc.com)>  
**Subject:** RE: Turf Grass Maintenance, SE and NE Quadrants

Good afternoon.

Thank you for the prompt response. I will be able to provide more details toward the end of next week. I appreciate and understand that timing is important for your planning and prioritizing.



**Heather Rose | Senior Procurement Specialist**

Procurement Services Department  
City of Fort Lauderdale

101 N.E. 3<sup>rd</sup> Avenue; Suite 1650, Fort Lauderdale, FL 33301

O: 954-828-5142

E: [hrose@fortlauderdale.gov](mailto:hrose@fortlauderdale.gov)

**WeAreFTL**

**From:** Ivan Vila <[ivila@visualscapeinc.com](mailto:ivila@visualscapeinc.com)>  
**Sent:** Friday, January 16, 2026 5:11 PM  
**To:** Heather Rose <[HRose@fortlauderdale.gov](mailto:HRose@fortlauderdale.gov)>  
**Cc:** Jose Quintero <[jquintero@visualscapeinc.com](mailto:jquintero@visualscapeinc.com)>  
**Subject:** [EXTERNAL:CAUTION!]- Re: Turf Grass Maintenance, SE and NE Quadrants

[::CAUTION!:] This email originated from *outside* The City of Fort Lauderdale.

Do Not Reply, click links, or open attachments from an unknown or suspicious origin. Confirm the email address is from an expected source before taking action.

Report any suspicious emails to [spamadmin@fortlauderdale.gov](mailto:spamadmin@fortlauderdale.gov)

Good afternoon Heather. We have reviewed our pricing for the northeast and southeast and are interested in expanding our current partnership with Fort Lauderdale. We are willing to service these sites at the pricing we previously submitted and terms in the contract. I know there's a process to this, but the sooner you can let us know the better so that we can properly prepare to provide these areas with top quality service. Looking forward to expanding our partnership. Have a great weekend!



"Our family of green industry professionals create partnerships with customers by providing beautiful landscape solutions."

**Ivan C. Vila**  
President

✉ [ivila@visualscapeinc.com](mailto:ivila@visualscapeinc.com)

☎ Office: (305) 362-2404

☎ Mobile: (786) 859-1331

☎ Fax: (305) 362-2403

📍 17801 NW 137 Avenue Miami, FL 33018

🌐 [visualscapeinc.com](http://visualscapeinc.com)

**From:** Heather Rose <[HRose@fortlauderdale.gov](mailto:HRose@fortlauderdale.gov)>  
**Sent:** Friday, January 16, 2026 12:10 PM  
**To:** Jose Quintero <[jquintero@visualscapeinc.com](mailto:jquintero@visualscapeinc.com)>

Cc: Ivan Vila <[ivila@visualscapeinc.com](mailto:ivila@visualscapeinc.com)>

Subject: RE: Turf Grass Maintenance, SE and NE Quadrants

Thank you and have a great weekend.



**Heather Rose | Senior Procurement Specialist**

Procurement Services Department  
City of Fort Lauderdale

101 N.E. 3<sup>rd</sup> Avenue; Suite 1650, Fort Lauderdale, FL 33301

O: 954-828-5142

E: [hrose@fortlauderdale.gov](mailto:hrose@fortlauderdale.gov)

**WeAreFTL**

---

From: Jose Quintero <[jquintero@visualscapeinc.com](mailto:jquintero@visualscapeinc.com)>

Sent: Friday, January 16, 2026 12:09 PM

To: Heather Rose <[HRose@fortlauderdale.gov](mailto:HRose@fortlauderdale.gov)>

Cc: Ivan Vila <[ivila@visualscapeinc.com](mailto:ivila@visualscapeinc.com)>

Subject: [EXTERNAL:CAUTION!]- Turf Grass Maintenance, SE and NE Quadrants

[::CAUTION!:] This email originated from *outside* The City of Fort Lauderdale.

Do Not Reply, click links, or open attachments from an unknown or suspicious origin. Confirm the email address is from an expected source before taking action.

Report any suspicious emails to [spamadmin@fortlauderdale.gov](mailto:spamadmin@fortlauderdale.gov)

---

Good afternoon Heather,

We are very pleased to receive this notification with regards to the possibility of VisualScape being awarded the SE & NE Quadrants. I will coordinate a meeting with the Team to review the contract and provide you with a response before January 21, 2026.

Thank you



"Our family of green industry professionals create partnerships with customers by providing beautiful landscape solutions."

**Jose M. Quintero**  
Director of Pre-Construction

✉ [jquintero@visualscapeinc.com](mailto:jquintero@visualscapeinc.com)

☎ Office: (305) 362-2404

☎ Fax: (305) 362-2403

📍 17801 NW 137 Avenue Miami, FL 33018

🌐 [visualscapeinc.com](http://visualscapeinc.com)

---

From: Heather Rose <[HRose@fortlauderdale.gov](mailto:HRose@fortlauderdale.gov)>

Sent: Friday, January 16, 2026 11:10 AM

To: Ivan Vila <[ivila@visualscapeinc.com](mailto:ivila@visualscapeinc.com)>

Cc: Jose Quintero <[jquintero@visualscapeinc.com](mailto:jquintero@visualscapeinc.com)>

Subject: Turf Grass Maintenance, SE and NE Quadrants

Good morning,

Previously, your company responded to the City's solicitations for turf grass maintenance of our Southeast (SE) and Northeast (NE) quadrants (ITB Event No. 383 and ITB Event No. 385). There may be an opportunity for your company to be evaluated for the award of the remaining three years of both contracts, with full service, effective February 2026. Are you still interested in being

awarded the City of Fort Lauderdale Turf Grass Maintenance NE and SE contracts under the same terms, conditions, and prices as submitted back in November 2024? Please reply to confirm no later than 12 noon on January 21, 2026.



**Heather Rose | Senior Procurement Specialist**

**Procurement Services Department**

**City of Fort Lauderdale**

101 N.E. 3<sup>rd</sup> Avenue; Suite 1650, Fort Lauderdale, FL 33301

O: 954-828-5142

E: [hrose@fortlauderdale.gov](mailto:hrose@fortlauderdale.gov)

**WeAreFTL**



## Tabulation Of Bids

**Event # :** 385

**Version:** 6

**Name:** Turf Grass Maintenance SE

**Description:** The City of Fort Lauderdale, Florida (City) is seeking bids from qualified, experienced, and licensed firm(s), hereinafter referred to as the Contractor or Bidder, to provide turf grass maintenance services for the southeast quadrant for the City, in accordance with the terms, conditions, and specifications contained in this Invitation to Bid (ITB).

To be considered for award, Contractor must bid on all lines for the full quantity of each line. Contractor must bid on all items. Partial bids will not be considered.

**Open Date:** 10/21/2024 10:00:00 AM

**Close Date:** 11/05/2024 02:00:00 PM

**Event Currency:** USD

Supplier	Bid Amount
SFM Landscape Services, LLC. 7500 NW 74 Avenue Medley, FL 33166	338,377.29
VisualScape, Inc. 17801 NW 137th Ave Miami, FL 33018	562,648.89
Thirty 1 Sixteen Realty and Investments 3301 N University Dr Suite 100 Coral Springs, FL 33065	453,684.26
AR Maintenance Solutions 2718 NW 30th Way Lauderdale Lakes, FL 33311	591,505.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

Juniper landscaping 3300 SW 46 Ave Davie, FL 33314	523,255.00
NJ&S Pressure Washing and Painting, LLC 3564NW 39th Street Lauderdale Lakes, FL 33309-4843 * * Supplier has responses with a no bid	0.00
Rock & Rose Lawn Care LLC 26251 sw 187th ave homestead, FL 33031	546,426.00

**Items**

**Item: MOW SERVICE - MEDIANS**

**Description:** Broward Blvd from Andrews Ave east to Victoria Park Rd

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	152.840	3,973.84
VisualScape, Inc.	26.0000	67.800	1,762.80
Thirty 1 Sixteen Realty and Investments	26.0000	123.070	3,199.82
AR Maintenance Solutions	26.0000	50.000	1,300.00
Juniper landscaping	26.0000	55.000	1,430.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	47.000	1,222.00

**Item: HEDGE SERVICE - MEDIANS**

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

**Description:** Broward Blvd from Andrews Ave east to Victoria Park Rd

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	1,834.080	27,511.20
VisualScape, Inc.	15.0000	156.060	2,340.90
Thirty 1 Sixteen Realty and Investments	15.0000	94.000	1,410.00
AR Maintenance Solutions	15.0000	260.000	3,900.00
Juniper landscaping	15.0000	300.000	4,500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	290.000	4,350.00

**Item: ADD'TL WEED AND TRASH SERVICE**

**Description:** Broward Blvd from Andrews Ave

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	72.000	792.00
VisualScape, Inc.	11.0000	74.000	814.00
Thirty 1 Sixteen Realty and Investments	11.0000	72.000	792.00
AR Maintenance Solutions	11.0000	70.000	770.00
Juniper landscaping	11.0000	75.000	825.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	70.000	770.00

**Item: PRE-EMERGENT SERVICE - MEDIANS**

**Description:** Broward Blvd from Andrews Ave east to Victoria Park Rd

**Unit of Measure:** EA                      **Quantity:** 1.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	192.000	192.00
VisualScape, Inc.	1.0000	36.000	36.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,000.000	1,000.00
AR Maintenance Solutions	1.0000	85.000	85.00
Juniper landscaping	1.0000	75.000	75.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	36.000	36.00

**Item: FERTILIZER SERVICE - MEDIANS**

**Description:** Broward Blvd from Andrews Ave east to Victoria Park Rd

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	192.000	384.00
VisualScape, Inc.	2.0000	22.500	45.00
Thirty 1 Sixteen Realty and Investments	2.0000	3,200.000	6,400.00
AR Maintenance Solutions	2.0000	55.000	110.00
Juniper landscaping	2.0000	175.000	350.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	57.000	114.00

**Item: MULCHING SERVICE - MEDIANS**

**Description:** Broward Blvd from Andrews Ave east to Victoria Park

**Unit of Measure:** EA                      **Quantity:** 2.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	1,080.000	2,160.00
VisualScape, Inc.	2.0000	714.000	1,428.00
Thirty 1 Sixteen Realty and Investments	2.0000	2,600.000	5,200.00
AR Maintenance Solutions	2.0000	180.000	360.00
Juniper landscaping	2.0000	300.000	600.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	190.000	380.00

**Item: MOW SERVICE - MEDIANS & ROWS**

**Description:** Las Olas Blvd - Andrews Ave to west side of Intracoastal

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	229.260	5,960.76
VisualScape, Inc.	26.0000	452.000	11,752.00
Thirty 1 Sixteen Realty and Investments	26.0000	123.070	3,199.82
AR Maintenance Solutions	26.0000	200.000	5,200.00
Juniper landscaping	26.0000	200.000	5,200.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	186.000	4,836.00

**Item: HEDGE SERVICE - MEDIANS & ROWS**

**Description:** Las Olas to Andrews Ave to west side of Intracoastal Waterway

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	1,146.300	17,194.50

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
VisualScape, Inc.	15.0000	693.600	10,404.00
Thirty 1 Sixteen Realty and Investments	15.0000	185.000	2,775.00
AR Maintenance Solutions	15.0000	1,150.000	17,250.00
Juniper landscaping	15.0000	1,300.000	19,500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	1,310.000	19,650.00

**Item: ADD'TL WEED & TRASH SERVICE**

**Description:** Las Olas Blvd - Andrews Ave (Medians and ROWs)

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	72.000	792.00
VisualScape, Inc.	11.0000	296.000	3,256.00
Thirty 1 Sixteen Realty and Investments	11.0000	350.000	3,850.00
AR Maintenance Solutions	11.0000	170.000	1,870.00
Juniper landscaping	11.0000	125.000	1,375.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	186.000	2,046.00

**Item: PRE-EMERGENT SVCE-MEDIANS & ROWS**

**Description:** Las Olas Blvd medians & ROWs - Andrews Ave to west side

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	384.000	384.00
VisualScape, Inc.	1.0000	90.000	90.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Thirty 1 Sixteen Realty and Investments	1.0000	1,500.000	1,500.00
AR Maintenance Solutions	1.0000	85.000	85.00
Juniper landscaping	1.0000	75.000	75.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	87.000	87.00

**Item: FERTILIZER SVC - MEDIANS & ROWS**

**Description:** Las Olas Blvd - Andrews Ave to west side of Intracoastal

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	384.000	768.00
VisualScape, Inc.	2.0000	112.500	225.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,600.000	3,200.00
AR Maintenance Solutions	2.0000	260.000	520.00
Juniper landscaping	2.0000	350.000	700.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	290.000	580.00

**Item: MULCHING SVC - MEDIANS & ROWS**

**Description:** Las Olas Blvd - Andrews Ave to west side of Intracoastal

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	1,350.000	2,700.00
VisualScape, Inc.	2.0000	3,570.000	7,140.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,300.000	2,600.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
AR Maintenance Solutions	2.0000	7,000.000	14,000.00
Juniper landscaping	2.0000	5,900.000	11,800.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	7,895.000	15,790.00

**Item: MOW SERVICE - N & S SWALES**

**Description:** Las Olas from Isle of Capri Dr to SE 23 Av/Seven Isles Drive

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	458.520	11,921.52
VisualScape, Inc.	26.0000	271.200	7,051.20
Thirty 1 Sixteen Realty and Investments	26.0000	123.070	3,199.82
AR Maintenance Solutions	26.0000	320.000	8,320.00
Juniper landscaping	26.0000	300.000	7,800.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	48.000	1,248.00

**Item: HEDGE SERVICE- N & S SIDE SWALES**

**Description:** Las Olas from Isle of Capri Dr to SE 23 Av/Seven Isles Drive

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	611.360	9,170.40
VisualScape, Inc.	15.0000	346.800	5,202.00
Thirty 1 Sixteen Realty and Investments	15.0000	94.000	1,410.00
AR Maintenance Solutions	15.0000	580.000	8,700.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Juniper landscaping	15.0000	650.000	9,750.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	262.000	3,930.00

**Item: ADD'TL WEED & TRASH SVC: N&S SWL**

**Description:** Las Olas from Isle of Capri Dr to SE 23 Av/Seven Isles Drive

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	72.000	792.00
VisualScape, Inc.	11.0000	111.000	1,221.00
Thirty 1 Sixteen Realty and Investments	11.0000	350.000	3,850.00
AR Maintenance Solutions	11.0000	100.000	1,100.00
Juniper landscaping	11.0000	75.000	825.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	38.000	418.00

**Item: PRE-EMERGENT SVCE- N&S SWALES**

**Description:** Las Olas from Isle of Capri Dr to SE 23 Av/Seven Isles Drive

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	192.000	192.00
VisualScape, Inc.	1.0000	90.000	90.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,500.000	1,500.00
AR Maintenance Solutions	1.0000	85.000	85.00
Juniper landscaping	1.0000	75.000	75.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	35.000	35.00

**Item: FERTILIZER SVC - N&S SWALE**

**Description:** Las Olas from Isle of Capri Dr to SE 23 Av/Seven Isles Drive

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	192.000	384.00
VisualScape, Inc.	2.0000	112.500	225.00
Thirty 1 Sixteen Realty and Investments	2.0000	2,100.000	4,200.00
AR Maintenance Solutions	2.0000	260.000	520.00
Juniper landscaping	2.0000	350.000	700.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	59.000	118.00

**Item: MULCHING SERVICE - N&S SWALES**

**Description:** Las Olas from Isle of Capri Dr to SE 23 Av/Seven Isles Drive

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	1,080.000	2,160.00
VisualScape, Inc.	2.0000	357.000	714.00
Thirty 1 Sixteen Realty and Investments	2.0000	750.000	1,500.00
AR Maintenance Solutions	2.0000	1,200.000	2,400.00
Juniper landscaping	2.0000	1,200.000	2,400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Rock & Rose Lawn Care LLC	2.0000	197.000	394.00

**Item: MOW SERVICE: SEAWALL ON SW CORNR**

**Description:** SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	38.210	993.46
VisualScape, Inc.	26.0000	316.400	8,226.40
Thirty 1 Sixteen Realty and Investments	26.0000	975.000	25,350.00
AR Maintenance Solutions	26.0000	25.000	650.00
Juniper landscaping	26.0000	35.000	910.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	16.000	416.00

**Item: HEDGE SVC - SEAWALL ON SW CORNER**

**Description:** SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	38.210	573.15
VisualScape, Inc.	15.0000	5.200	78.00
Thirty 1 Sixteen Realty and Investments	15.0000	92.000	1,380.00
AR Maintenance Solutions	15.0000	15.000	225.00
Juniper landscaping	15.0000	45.000	675.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	10.000	150.00

**Item: ADD'TL WEED & TRASH SVC: SEAWALL**

**Description:** SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	36.000	396.00
VisualScope, Inc.	11.0000	9.250	101.75
Thirty 1 Sixteen Realty and Investments	11.0000	185.000	2,035.00
AR Maintenance Solutions	11.0000	15.000	165.00
Juniper landscaping	11.0000	20.000	220.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	10.000	110.00

**Item: PRE-EMERGENT SVC: SEAWALL ON SW**

**Description:** SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScope, Inc.	1.0000	18.000	18.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,500.000	1,500.00
AR Maintenance Solutions	1.0000	20.000	20.00
Juniper landscaping	1.0000	35.000	35.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	20.000	20.00

**Item: FERTILIZER SVC - SEAWALL ON SW**

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

**Description:** SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	5.630	11.26
Thirty 1 Sixteen Realty and Investments	2.0000	1,600.000	3,200.00
AR Maintenance Solutions	2.0000	15.000	30.00
Juniper landscaping	2.0000	45.000	90.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	17.000	34.00

**Item: MULCHING SVC: SEAWALL ON SW CORN**

**Description:** SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	4.500	9.00
VisualScape, Inc.	2.0000	357.000	714.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,250.000	2,500.00
AR Maintenance Solutions	2.0000	60.000	120.00
Juniper landscaping	2.0000	95.000	190.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	59.000	118.00

**Item: MOW SVC - INCLUDING PUMP STATION**

**Description:** SE 25 Ave/Riviera Isle: Las Olas Blvd to S end of road

**Unit of Measure:** EA                      **Quantity:** 26.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	38.210	993.46
VisualScape, Inc.	26.0000	180.800	4,700.80
Thirty 1 Sixteen Realty and Investments	26.0000	150.000	3,900.00
AR Maintenance Solutions	26.0000	120.000	3,120.00
Juniper landscaping	26.0000	130.000	3,380.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	125.000	3,250.00

**Item: HEDGE SVC-INCLUDING PUMP STATION**

**Description:** SE 25 Ave/Riviera Isle from Las Olas Blvd to S end of road

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	114.630	1,719.45
VisualScape, Inc.	15.0000	17.340	260.10
Thirty 1 Sixteen Realty and Investments	15.0000	196.000	2,940.00
AR Maintenance Solutions	15.0000	40.000	600.00
Juniper landscaping	15.0000	75.000	1,125.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	35.000	525.00

**Item: ADD'TL WEED & TRASH SVC:SEE NOTE**

**Description:** SE 25 Ave/Riviera Isle from Las Olas Blvd to S end of road

**Unit of Measure:** EA                      **Quantity:** 11.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	35.000	385.00
VisualScape, Inc.	11.0000	37.000	407.00
Thirty 1 Sixteen Realty and Investments	11.0000	350.000	3,850.00
AR Maintenance Solutions	11.0000	40.000	440.00
Juniper landscaping	11.0000	35.000	385.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	40.000	440.00

**Item: PRE-EMERGENT SVC: INCLUDING PUMP**

**Description:** SE 25 Ave/Riviera Isle from Las Olas Blvd to S end of road

**Unit of EA Measure:**                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	180.000	180.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,600.000	1,600.00
AR Maintenance Solutions	1.0000	175.000	175.00
Juniper landscaping	1.0000	55.000	55.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	170.000	170.00

**Item: FERTILIZER SVC:INCLUDING PUMP ST**

**Description:** SE 25 Ave/Riviera Isle from Las Olas Blvd to S end of road

**Unit of EA Measure:**                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
VisualScape, Inc.	2.0000	67.500	135.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,250.000	2,500.00
AR Maintenance Solutions	2.0000	175.000	350.00
Juniper landscaping	2.0000	200.000	400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	170.000	340.00

**Item: MULCHING SVC -INCLUDING PUMP STN**

**Description:** SE 25 Ave/Riviera Isle from Las Olas Blvd to S end of road

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	67.500	135.00
VisualScape, Inc.	2.0000	357.000	714.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,250.000	2,500.00
AR Maintenance Solutions	2.0000	200.000	400.00
Juniper landscaping	2.0000	250.000	500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	200.000	400.00

**Item: MOW SERVICE: ENTIRE LOT**

**Description:** 305 Lido Dr - Las Olas Blvd and Lido Drive Pump Station

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	152.840	3,973.84
VisualScape, Inc.	26.0000	31.640	822.64

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Thirty 1 Sixteen Realty and Investments	26.0000	150.000	3,900.00
AR Maintenance Solutions	26.0000	25.000	650.00
Juniper landscaping	26.0000	35.000	910.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	10.000	260.00

**Item: HEDGE SVC - ENTIRE LOT**

**Description:** 305 Lido Dr - Las Olas Blvd and Lido Drive Pump Station

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	229.260	3,438.90
VisualScape, Inc.	15.0000	9.540	143.10
Thirty 1 Sixteen Realty and Investments	15.0000	196.000	2,940.00
AR Maintenance Solutions	15.0000	25.000	375.00
Juniper landscaping	15.0000	35.000	525.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	20.000	300.00

**Item: ADD'TL WEED & TRASH SVC: PUMP ST**

**Description:** 305 Lido Dr - Las Olas Blvd and Lido Drive Pump Station

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	35.000	385.00
VisualScape, Inc.	11.0000	5.550	61.05
Thirty 1 Sixteen Realty and Investments	11.0000	350.000	3,850.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
AR Maintenance Solutions	11.0000	25.000	275.00
Juniper landscaping	11.0000	25.000	275.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	10.000	110.00

**Item: PRE-EMERGENT SVC: INCLUDING PUMP**

**Description:** 305 Lido Dr - Las Olas Blvd and Lido Drive Pump Station

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	9.000	9.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,600.000	1,600.00
AR Maintenance Solutions	1.0000	25.000	25.00
Juniper landscaping	1.0000	25.000	25.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	10.000	10.00

**Item: FERTILIZER SVC: ENTIRE LOT**

**Description:** 305 Lido Dr - Las Olas Blvd and Lido Drive Pump Station

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	5.630	11.26
Thirty 1 Sixteen Realty and Investments	2.0000	1,250.000	2,500.00
AR Maintenance Solutions	2.0000	25.000	50.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Juniper landscaping	2.0000	45.000	90.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	15.000	30.00

**Item: MULCHING SERVICE - ENTIRE LOT**

**Description:** 305 Lido Dr - Las Olas Blvd and Lido Drive Pump Station

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	180.000	360.00
VisualScape, Inc.	2.0000	178.500	357.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,250.000	2,500.00
AR Maintenance Solutions	2.0000	50.000	100.00
Juniper landscaping	2.0000	75.000	150.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	45.000	90.00

**Item: MOW SERVICE - SEE NOTES SECTION**

**Description:** Points of America medians, swales and roundabouts

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	152.840	3,973.84
VisualScape, Inc.	26.0000	406.800	10,576.80
Thirty 1 Sixteen Realty and Investments	26.0000	150.000	3,900.00
AR Maintenance Solutions	26.0000	300.000	7,800.00
Juniper landscaping	26.0000	290.000	7,540.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	285.000	7,410.00

**Item: HEDGE SERVICE- SEE NOTES SECTION**

**Description:** Points of America medians, swales and roundabouts

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	382.100	5,731.50
VisualScape, Inc.	15.0000	554.880	8,323.20
Thirty 1 Sixteen Realty and Investments	15.0000	196.000	2,940.00
AR Maintenance Solutions	15.0000	950.000	14,250.00
Juniper landscaping	15.0000	1,100.000	16,500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	1,045.000	15,675.00

**Item: ADD'TL WEED & TRASH SVC - NOTES**

**Description:** Service for Points of America medians, swales and roundabout

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	72.000	792.00
VisualScape, Inc.	11.0000	185.000	2,035.00
Thirty 1 Sixteen Realty and Investments	11.0000	350.000	3,850.00
AR Maintenance Solutions	11.0000	175.000	1,925.00
Juniper landscaping	11.0000	175.000	1,925.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Rock & Rose Lawn Care LLC	11.0000	184.000	2,024.00

**Item: PRE-EMERGENT SVC - SEE NOTES**

**Description:** Points of America medians, swales and roundabouts

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	144.000	144.00
VisualScape, Inc.	1.0000	180.000	180.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,600.000	1,600.00
AR Maintenance Solutions	1.0000	175.000	175.00
Juniper landscaping	1.0000	175.000	175.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	175.000	175.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** Points of America medians, swales and roundabouts

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	144.000	288.00
VisualScape, Inc.	2.0000	157.500	315.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,225.000	2,450.00
AR Maintenance Solutions	2.0000	375.000	750.00
Juniper landscaping	2.0000	475.000	950.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	405.000	810.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** Points of America medians, swales and roundabouts

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	1,125.000	2,250.00
VisualScape, Inc.	2.0000	1,428.000	2,856.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,225.000	2,450.00
AR Maintenance Solutions	2.0000	1,250.000	2,500.00
Juniper landscaping	2.0000	1,200.000	2,400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	1,184.000	2,368.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** S Andrews Ave medians & ROWs from Broward Blvd to SE 6 Ave

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	382.100	5,731.50
VisualScape, Inc.	15.0000	260.100	3,901.50
Thirty 1 Sixteen Realty and Investments	15.0000	102.000	1,530.00
AR Maintenance Solutions	15.0000	500.000	7,500.00
Juniper landscaping	15.0000	500.000	7,500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	491.000	7,365.00

**Item: MOW SERVICE - SEE NOTES**

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

**Description:** S Andrews Ave medians & ROWs from Broward Blvd to SE 6 Ave

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	305.680	7,947.68
VisualScape, Inc.	26.0000	271.200	7,051.20
Thirty 1 Sixteen Realty and Investments	26.0000	151.000	3,926.00
AR Maintenance Solutions	26.0000	200.000	5,200.00
Juniper landscaping	26.0000	190.000	4,940.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	190.000	4,940.00

**Item: ADD'TL WEED & TRASH SVC-SEE NOTE**

**Description:** S Andrews Ave medians & ROWs from Broward Blvd to SE 6 Ave

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	70.000	770.00
VisualScape, Inc.	11.0000	148.000	1,628.00
Thirty 1 Sixteen Realty and Investments	11.0000	261.000	2,871.00
AR Maintenance Solutions	11.0000	150.000	1,650.00
Juniper landscaping	11.0000	120.000	1,320.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	149.000	1,639.00

**Item: PRE-EMERGENT SVC - SEE NOTES**

**Description:** S Andrews Ave medians & ROWs from Broward Blvd to SE 6 Ave

**Unit of Measure:** EA                      **Quantity:** 1.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	96.000	96.00
VisualScape, Inc.	1.0000	45.000	45.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,600.000	1,600.00
AR Maintenance Solutions	1.0000	40.000	40.00
Juniper landscaping	1.0000	55.000	55.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	44.000	44.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** S Andrews Ave medians & ROWs from Broward Blvd to SE 6 Ave

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	96.000	192.00
VisualScape, Inc.	2.0000	180.000	360.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,225.000	2,450.00
AR Maintenance Solutions	2.0000	400.000	800.00
Juniper landscaping	2.0000	390.000	780.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	360.000	720.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** S Andrews Ave medians & ROWs from Broward Blvd to SE 6 Ave

**Unit of Measure:** EA                      **Quantity:** 2.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	171.950	343.90
VisualScape, Inc.	2.0000	178.500	357.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,225.000	2,450.00
AR Maintenance Solutions	2.0000	400.000	800.00
Juniper landscaping	2.0000	475.000	950.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	395.000	790.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** Isle of Capri/SE 17 Way median south of Las Olas Blvd

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	38.210	573.15
VisualScape, Inc.	15.0000	34.680	520.20
Thirty 1 Sixteen Realty and Investments	15.0000	102.000	1,530.00
AR Maintenance Solutions	15.0000	60.000	900.00
Juniper landscaping	15.0000	115.000	1,725.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	65.000	975.00

**Item: ADD'TL WEED & TRASH SVC:SEE NOTE**

**Description:** Isle of Capri/SE 17 Way median south of Las Olas Blvd

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	35.000	385.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
VisualScape, Inc.	11.0000	18.500	203.50
Thirty 1 Sixteen Realty and Investments	11.0000	261.000	2,871.00
AR Maintenance Solutions	11.0000	60.000	660.00
Juniper landscaping	11.0000	35.000	385.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	20.000	220.00

**Item: PRE-EMERGENT SVCS: SEE NOTES**

**Description:** Isle of Capri/SE 17 Way median south of Las Olas Blvd

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	18.000	18.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,600.000	1,600.00
AR Maintenance Solutions	1.0000	40.000	40.00
Juniper landscaping	1.0000	25.000	25.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	20.000	20.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** Isle of Capri/SE 17 Way median south of Las Olas Blvd

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	11.250	22.50

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Thirty 1 Sixteen Realty and Investments	2.0000	1,225.000	2,450.00
AR Maintenance Solutions	2.0000	50.000	100.00
Juniper landscaping	2.0000	55.000	110.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	30.000	60.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** Isle of Capri/SE 17 Way median south of Las Olas Blvd

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	67.500	135.00
VisualScape, Inc.	2.0000	357.000	714.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,225.000	2,450.00
AR Maintenance Solutions	2.0000	75.000	150.00
Juniper landscaping	2.0000	150.000	300.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	75.000	150.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	229.260	5,960.76
VisualScape, Inc.	26.0000	45.200	1,175.20
Thirty 1 Sixteen Realty and Investments	26.0000	151.000	3,926.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
AR Maintenance Solutions	26.0000	40.000	1,040.00
Juniper landscaping	26.0000	35.000	910.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	32.000	832.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	76.420	1,146.30
VisualScape, Inc.	15.0000	69.360	1,040.40
Thirty 1 Sixteen Realty and Investments	15.0000	102.000	1,530.00
AR Maintenance Solutions	15.0000	40.000	600.00
Juniper landscaping	15.0000	35.000	525.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	33.000	495.00

**Item: ADDT'L WEED & TRASH SVC:SEE NOTE**

**Description:** SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	72.000	792.00
VisualScape, Inc.	11.0000	37.000	407.00
Thirty 1 Sixteen Realty and Investments	11.0000	261.000	2,871.00
AR Maintenance Solutions	11.0000	40.000	440.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Juniper landscaping	11.0000	35.000	385.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	20.000	220.00

**Item: PRE-EMERGENT SERVICE: SEE NOTES**

**Description:** SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	27.000	27.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,600.000	1,600.00
AR Maintenance Solutions	1.0000	40.000	40.00
Juniper landscaping	1.0000	35.000	35.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	28.000	28.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	22.500	45.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,225.000	2,450.00
AR Maintenance Solutions	2.0000	60.000	120.00
Juniper landscaping	2.0000	95.000	190.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	60.000	120.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	135.000	270.00
VisualScape, Inc.	2.0000	267.750	535.50
Thirty 1 Sixteen Realty and Investments	2.0000	1,225.000	2,450.00
AR Maintenance Solutions	2.0000	200.000	400.00
Juniper landscaping	2.0000	250.000	500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	196.000	392.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** S Federal Hwy medians from Broward Blvd to SE 30 St

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	38.210	993.46
VisualScape, Inc.	26.0000	180.800	4,700.80
Thirty 1 Sixteen Realty and Investments	26.0000	1,225.000	31,850.00
AR Maintenance Solutions	26.0000	150.000	3,900.00
Juniper landscaping	26.0000	105.000	2,730.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Rock & Rose Lawn Care LLC	26.0000	125.000	3,250.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** S Federal Hwy medians from Broward Blvd to SE 30 St

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	1,451.980	21,779.70
VisualScape, Inc.	15.0000	1,040.400	15,606.00
Thirty 1 Sixteen Realty and Investments	15.0000	148.270	2,224.05
AR Maintenance Solutions	15.0000	1,700.000	25,500.00
Juniper landscaping	15.0000	1,700.000	25,500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	1,801.000	27,015.00

**Item: ADD'TL WEED & TRASH SVC-SEE NOTE**

**Description:** r S Federal Hwy medians from Broward Blvd to SE 30 St

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	70.000	770.00
VisualScape, Inc.	11.0000	333.000	3,663.00
Thirty 1 Sixteen Realty and Investments	11.0000	162.000	1,782.00
AR Maintenance Solutions	11.0000	300.000	3,300.00
Juniper landscaping	11.0000	200.000	2,200.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	336.000	3,696.00

**Item: PRE-EMERGENT SVC - SEE NOTES**

**Description:** S Federal Hwy medians from Broward Blvd to SE 30 St

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	288.000	288.00
VisualScope, Inc.	1.0000	450.000	450.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,731.000	1,731.00
AR Maintenance Solutions	1.0000	400.000	400.00
Juniper landscaping	1.0000	200.000	200.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	439.000	439.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** S Federal Hwy medians from Broward Blvd to SE 30 St

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	288.000	576.00
VisualScope, Inc.	2.0000	337.500	675.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,730.000	3,460.00
AR Maintenance Solutions	2.0000	700.000	1,400.00
Juniper landscaping	2.0000	750.000	1,500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	699.000	1,398.00

**Item: MULCHING SERVICE - SEE NOTES**

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

**Description:** S Federal Hwy medians from Broward Blvd to SE 30 St

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	1,800.000	3,600.00
VisualScape, Inc.	2.0000	3,570.000	7,140.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,730.000	3,460.00
AR Maintenance Solutions	2.0000	2,500.000	5,000.00
Juniper landscaping	2.0000	2,600.000	5,200.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	2,764.000	5,528.00

**Item: MOW SERVICE - SEE NOTES SECTION**

**Description:** Hospital Section - See Notes Section for Full Description

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	229.260	5,960.76
VisualScape, Inc.	26.0000	2,712.000	70,512.00
Thirty 1 Sixteen Realty and Investments	26.0000	165.800	4,310.80
AR Maintenance Solutions	26.0000	2,000.000	52,000.00
Juniper landscaping	26.0000	1,200.000	31,200.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	1,896.000	49,296.00

**Item: HEDGE SERVICE**

**Description:** Hospital Section - See Notes Section for Full Description

**Unit of Measure:** EA                      **Quantity:** 15.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	229.260	3,438.90
VisualScape, Inc.	15.0000	867.000	13,005.00
Thirty 1 Sixteen Realty and Investments	15.0000	148.270	2,224.05
AR Maintenance Solutions	15.0000	1,600.000	24,000.00
Juniper landscaping	15.0000	1,400.000	21,000.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	1,635.000	24,525.00

**Item: ADDT'L WEED & TRASH SVC:SEE NOTE**

**Description:** Hospital Section - See Notes Section for Full Description

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	70.000	770.00
VisualScape, Inc.	11.0000	592.000	6,512.00
Thirty 1 Sixteen Realty and Investments	11.0000	162.000	1,782.00
AR Maintenance Solutions	11.0000	650.000	7,150.00
Juniper landscaping	11.0000	250.000	2,750.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	610.000	6,710.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** Hospital Section - See Notes Section for Full Description

**Unit of Measure:** EA                      **Quantity:** 1.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	288.000	288.00
VisualScape, Inc.	1.0000	900.000	900.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,731.000	1,731.00
AR Maintenance Solutions	1.0000	800.000	800.00
Juniper landscaping	1.0000	350.000	350.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	875.000	875.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** Hospital Section - See Notes Section for Full Description

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	288.000	576.00
VisualScape, Inc.	2.0000	337.500	675.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,730.000	3,460.00
AR Maintenance Solutions	2.0000	900.000	1,800.00
Juniper landscaping	2.0000	800.000	1,600.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	875.000	1,750.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** Hospital Section - See Notes Section for Full Description

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	900.000	1,800.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
VisualScape, Inc.	2.0000	1,428.000	2,856.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,730.000	3,460.00
AR Maintenance Solutions	2.0000	3,500.000	7,000.00
Juniper landscaping	2.0000	3,700.000	7,400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	3,950.000	7,900.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** Ponce de Leon Dr medians from S Federal Hwy to end of road

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	1,375.560	35,764.56
VisualScape, Inc.	26.0000	1,446.400	37,606.40
Thirty 1 Sixteen Realty and Investments	26.0000	165.800	4,310.80
AR Maintenance Solutions	26.0000	1,050.000	27,300.00
Juniper landscaping	26.0000	900.000	23,400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	1,010.000	26,260.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** Ponce de Leon Dr medians from S Federal Hwy to end of road

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	687.780	10,316.70
VisualScape, Inc.	15.0000	312.120	4,681.80

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Thirty 1 Sixteen Realty and Investments	15.0000	148.270	2,224.05
AR Maintenance Solutions	15.0000	700.000	10,500.00
Juniper landscaping	15.0000	625.000	9,375.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	595.000	8,925.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** Ponce de Leon Dr medians from S Federal Hwy to end of road

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	70.000	770.00
VisualScape, Inc.	11.0000	444.000	4,884.00
Thirty 1 Sixteen Realty and Investments	11.0000	162.000	1,782.00
AR Maintenance Solutions	11.0000	500.000	5,500.00
Juniper landscaping	11.0000	250.000	2,750.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	449.000	4,939.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** Ponce de Leon Dr medians from S Federal Hwy to end of road

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	384.000	384.00
VisualScape, Inc.	1.0000	720.000	720.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,731.000	1,731.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
AR Maintenance Solutions	1.0000	700.000	700.00
Juniper landscaping	1.0000	350.000	350.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	700.000	700.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** Ponce de Leon Dr medians from S Federal Hwy to end of road

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	384.000	768.00
VisualScape, Inc.	2.0000	900.000	1,800.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,730.000	3,460.00
AR Maintenance Solutions	2.0000	2,250.000	4,500.00
Juniper landscaping	2.0000	1,600.000	3,200.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	2,340.000	4,680.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** Ponce de Leon Dr medians from S Federal Hwy to end of road

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	1,125.000	2,250.00
VisualScape, Inc.	2.0000	3,213.000	6,426.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,730.000	3,460.00
AR Maintenance Solutions	2.0000	7,850.000	15,700.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Juniper landscaping	2.0000	7,700.000	15,400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	7,999.000	15,998.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** Coconut Isle Dr/SE 18 Ave, medians & beds

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	76.420	1,986.92
VisualScape, Inc.	26.0000	452.000	11,752.00
Thirty 1 Sixteen Realty and Investments	26.0000	165.800	4,310.80
AR Maintenance Solutions	26.0000	350.000	9,100.00
Juniper landscaping	26.0000	300.000	7,800.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	316.000	8,216.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** Coconut Isle Dr/SE 18 Ave, medians & beds

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	76.420	1,146.30
VisualScape, Inc.	15.0000	121.380	1,820.70
Thirty 1 Sixteen Realty and Investments	15.0000	148.270	2,224.05
AR Maintenance Solutions	15.0000	250.000	3,750.00
Juniper landscaping	15.0000	300.000	4,500.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	229.000	3,435.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** Coconut Isle Dr/SE 18 Ave, medians & beds

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	35.000	385.00
VisualScape, Inc.	11.0000	74.000	814.00
Thirty 1 Sixteen Realty and Investments	11.0000	162.000	1,782.00
AR Maintenance Solutions	11.0000	100.000	1,100.00
Juniper landscaping	11.0000	75.000	825.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	75.000	825.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** Coconut Isle Dr/SE 18 Ave, medians & beds

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	45.000	45.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,650.000	1,650.00
AR Maintenance Solutions	1.0000	75.000	75.00
Juniper landscaping	1.0000	55.000	55.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Rock & Rose Lawn Care LLC	1.0000	45.000	45.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** Coconut Isle Dr/SE 18 Ave, medians & beds

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	247.500	495.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,131.000	2,262.00
AR Maintenance Solutions	2.0000	750.000	1,500.00
Juniper landscaping	2.0000	675.000	1,350.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	645.000	1,290.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** Coconut Isle Dr/SE 18 Ave, medians & beds

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	900.000	1,800.00
VisualScape, Inc.	2.0000	357.000	714.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,131.000	2,262.00
AR Maintenance Solutions	2.0000	1,400.000	2,800.00
Juniper landscaping	2.0000	1,200.000	2,400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	1,185.000	2,370.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** Solar Isle Dr/SE 24 Ave, medians

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	76.420	1,986.92
VisualScape, Inc.	26.0000	271.200	7,051.20
Thirty 1 Sixteen Realty and Investments	26.0000	165.000	4,290.00
AR Maintenance Solutions	26.0000	200.000	5,200.00
Juniper landscaping	26.0000	200.000	5,200.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	190.000	4,940.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** Solar Isle Dr/SE 24 Ave, medians

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	38.210	573.15
VisualScape, Inc.	15.0000	138.720	2,080.80
Thirty 1 Sixteen Realty and Investments	15.0000	264.000	3,960.00
AR Maintenance Solutions	15.0000	250.000	3,750.00
Juniper landscaping	15.0000	350.000	5,250.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	262.000	3,930.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

**Description:** Solar Isle Dr/SE 24 Ave, medians

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	36.000	396.00
VisualScape, Inc.	11.0000	74.000	814.00
Thirty 1 Sixteen Realty and Investments	11.0000	266.450	2,930.95
AR Maintenance Solutions	11.0000	75.000	825.00
Juniper landscaping	11.0000	75.000	825.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	75.000	825.00

**Item: PRE-EMERGENT SVC - SEE NOTES**

**Description:** Solar Isle Dr/SE 24 Ave, medians

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	45.000	45.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,650.000	1,650.00
AR Maintenance Solutions	1.0000	50.000	50.00
Juniper landscaping	1.0000	55.000	55.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	45.000	45.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** Solar Isle Dr/SE 24 Ave, medians

**Unit of Measure:** EA                      **Quantity:** 2.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	225.000	450.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,131.000	2,262.00
AR Maintenance Solutions	2.0000	500.000	1,000.00
Juniper landscaping	2.0000	500.000	1,000.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	468.000	936.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** Solar Isle Dr/SE 24 Ave, medians

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	45.000	90.00
VisualScape, Inc.	2.0000	357.000	714.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,131.000	2,262.00
AR Maintenance Solutions	2.0000	1,000.000	2,000.00
Juniper landscaping	2.0000	900.000	1,800.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	987.000	1,974.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** Seawall from Las Olas Blvd to Isla of Palms Dr

**Unit of Measure:** EA                      **Quantity:** 26.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	38.210	993.46
VisualScape, Inc.	26.0000	271.200	7,051.20
Thirty 1 Sixteen Realty and Investments	26.0000	165.000	4,290.00
AR Maintenance Solutions	26.0000	200.000	5,200.00
Juniper landscaping	26.0000	175.000	4,550.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	190.000	4,940.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** Seawall from Las Olas Blvd to Isla of Palms Dr

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	36.000	396.00
VisualScape, Inc.	11.0000	37.000	407.00
Thirty 1 Sixteen Realty and Investments	11.0000	266.450	2,930.95
AR Maintenance Solutions	11.0000	40.000	440.00
Juniper landscaping	11.0000	35.000	385.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	1.000	11.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** Seawall from Las Olas Blvd to Isla of Palms Dr

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
VisualScape, Inc.	1.0000	18.000	18.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,650.000	1,650.00
AR Maintenance Solutions	1.0000	25.000	25.00
Juniper landscaping	1.0000	35.000	35.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	45.000	45.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** Seawall from Las Olas Blvd to Isla of Palms Dr

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	135.000	270.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,131.000	2,262.00
AR Maintenance Solutions	2.0000	400.000	800.00
Juniper landscaping	2.0000	250.000	500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	355.000	710.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** Seawall from Las Olas Blvd to Isla of Palms Dr

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	45.000	90.00
VisualScape, Inc.	2.0000	89.250	178.50

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Thirty 1 Sixteen Realty and Investments	2.0000	1,131.000	2,262.00
AR Maintenance Solutions	2.0000	800.000	1,600.00
Juniper landscaping	2.0000	550.000	1,100.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	590.000	1,180.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** Eisenhower Blvd from SE 17 St to SE 20 St

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	76.420	1,986.92
VisualScape, Inc.	26.0000	180.800	4,700.80
Thirty 1 Sixteen Realty and Investments	26.0000	165.000	4,290.00
AR Maintenance Solutions	26.0000	150.000	3,900.00
Juniper landscaping	26.0000	140.000	3,640.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	125.000	3,250.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** Eisenhower Blvd from SE 17 St to SE 20 St

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	38.210	573.15
VisualScape, Inc.	15.0000	8.670	130.05
Thirty 1 Sixteen Realty and Investments	15.0000	264.450	3,966.75

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
AR Maintenance Solutions	15.0000	50.000	750.00
Juniper landscaping	15.0000	50.000	750.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	20.000	300.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** Eisenhower Blvd from SE 17 St to SE 20 St

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	36.000	396.00
VisualScape, Inc.	11.0000	18.500	203.50
Thirty 1 Sixteen Realty and Investments	11.0000	266.450	2,930.95
AR Maintenance Solutions	11.0000	40.000	440.00
Juniper landscaping	11.0000	35.000	385.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	20.000	220.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** Eisenhower Blvd from SE 17 St to SE 20 St

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	18.000	18.00
Thirty 1 Sixteen Realty and Investments	1.0000	1,650.000	1,650.00
AR Maintenance Solutions	1.0000	40.000	40.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Juniper landscaping	1.0000	25.000	25.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	20.000	20.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** Eisenhower Blvd from SE 17 St to SE 20 St

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	22.500	45.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,131.000	2,262.00
AR Maintenance Solutions	2.0000	75.000	150.00
Juniper landscaping	2.0000	90.000	180.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	60.000	120.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** Eisenhower Blvd from SE 17 St to SE 20 St

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	90.000	180.00
VisualScape, Inc.	2.0000	89.250	178.50
Thirty 1 Sixteen Realty and Investments	2.0000	1,131.000	2,262.00
AR Maintenance Solutions	2.0000	100.000	200.00
Juniper landscaping	2.0000	95.000	190.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	60.000	120.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** SE 17 St medians, ROWs, and beds

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	458.520	11,921.52
VisualScape, Inc.	26.0000	1,446.400	37,606.40
Thirty 1 Sixteen Realty and Investments	26.0000	97.200	2,527.20
AR Maintenance Solutions	26.0000	1,050.000	27,300.00
Juniper landscaping	26.0000	840.000	21,840.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	1,011.000	26,286.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** SE 17 St medians, ROWs, and beds

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	687.780	10,316.70
VisualScape, Inc.	15.0000	693.600	10,404.00
Thirty 1 Sixteen Realty and Investments	15.0000	85.000	1,275.00
AR Maintenance Solutions	15.0000	1,400.000	21,000.00
Juniper landscaping	15.0000	1,400.000	21,000.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Rock & Rose Lawn Care LLC	15.0000	1,310.000	19,650.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** SE 17 St medians, ROWs, and beds

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	36.000	396.00
VisualScape, Inc.	11.0000	370.000	4,070.00
Thirty 1 Sixteen Realty and Investments	11.0000	73.000	803.00
AR Maintenance Solutions	11.0000	300.000	3,300.00
Juniper landscaping	11.0000	200.000	2,200.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	298.000	3,278.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** SE 17 St medians, ROWs, and beds

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	288.000	288.00
VisualScape, Inc.	1.0000	720.000	720.00
Thirty 1 Sixteen Realty and Investments	1.0000	3,250.000	3,250.00
AR Maintenance Solutions	1.0000	650.000	650.00
Juniper landscaping	1.0000	400.000	400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	700.000	700.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** SE 17 St medians, ROWs, and beds

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	288.000	576.00
VisualScope, Inc.	2.0000	405.000	810.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,650.000	3,300.00
AR Maintenance Solutions	2.0000	850.000	1,700.00
Juniper landscaping	2.0000	800.000	1,600.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	875.000	1,750.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** SE 17 St medians, ROWs, and beds

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	1,350.000	2,700.00
VisualScope, Inc.	2.0000	2,856.000	5,712.00
Thirty 1 Sixteen Realty and Investments	2.0000	3,250.000	6,500.00
AR Maintenance Solutions	2.0000	3,000.000	6,000.00
Juniper landscaping	2.0000	3,000.000	6,000.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	3,150.000	6,300.00

**Item: MOW SERVICE - SEE NOTES**

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

**Description:** SE 10 Ave medians from south of SE 17 St to 20th St

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	38.210	993.46
VisualScape, Inc.	26.0000	135.600	3,525.60
Thirty 1 Sixteen Realty and Investments	26.0000	97.200	2,527.20
AR Maintenance Solutions	26.0000	100.000	2,600.00
Juniper landscaping	26.0000	105.000	2,730.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	95.000	2,470.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** SE 10 Ave medians from south of SE 17 St to 20th St

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	76.420	1,146.30
VisualScape, Inc.	15.0000	138.720	2,080.80
Thirty 1 Sixteen Realty and Investments	15.0000	85.000	1,275.00
AR Maintenance Solutions	15.0000	250.000	3,750.00
Juniper landscaping	15.0000	325.000	4,875.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	263.000	3,945.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** SE 10 Ave medians from south of SE 17 St to 20th St

**Unit of Measure:** EA                      **Quantity:** 11.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	35.000	385.00
VisualScape, Inc.	11.0000	55.500	610.50
Thirty 1 Sixteen Realty and Investments	11.0000	73.000	803.00
AR Maintenance Solutions	11.0000	75.000	825.00
Juniper landscaping	11.0000	55.000	605.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	55.000	605.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** SE 10 Ave medians from south of SE 17 St to 20th St

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	90.000	90.00
Thirty 1 Sixteen Realty and Investments	1.0000	3,250.000	3,250.00
AR Maintenance Solutions	1.0000	75.000	75.00
Juniper landscaping	1.0000	75.000	75.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	88.000	88.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** SE 10 Ave medians from south of SE 17 St to 20th St

**Unit of Measure:** EA                      **Quantity:** 2.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	90.000	180.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,650.000	3,300.00
AR Maintenance Solutions	2.0000	400.000	800.00
Juniper landscaping	2.0000	275.000	550.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	235.000	470.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** SE 10 Ave medians from south of SE 17 St to 20th St

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	225.000	450.00
VisualScape, Inc.	2.0000	357.000	714.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,650.000	3,300.00
AR Maintenance Solutions	2.0000	400.000	800.00
Juniper landscaping	2.0000	250.000	500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	200.000	400.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** S Miami Rd medians from SE 16 Ct to SE 17 St

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	38.210	573.15

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
VisualScape, Inc.	15.0000	208.080	3,121.20
Thirty 1 Sixteen Realty and Investments	15.0000	85.000	1,275.00
AR Maintenance Solutions	15.0000	500.000	7,500.00
Juniper landscaping	15.0000	290.000	4,350.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	32.000	480.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** S Miami Rd medians from SE 16 Ct to SE 17 St

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	38.210	420.31
VisualScape, Inc.	11.0000	74.000	814.00
Thirty 1 Sixteen Realty and Investments	11.0000	73.000	803.00
AR Maintenance Solutions	11.0000	80.000	880.00
Juniper landscaping	11.0000	55.000	605.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	394.000	4,334.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** S Miami Rd medians from SE 16 Ct to SE 17 St

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	90.000	90.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Thirty 1 Sixteen Realty and Investments	1.0000	3,250.000	3,250.00
AR Maintenance Solutions	1.0000	80.000	80.00
Juniper landscaping	1.0000	75.000	75.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	75.000	75.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** S Miami Rd medians from SE 16 Ct to SE 17 St

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	45.000	90.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,650.000	3,300.00
AR Maintenance Solutions	2.0000	200.000	400.00
Juniper landscaping	2.0000	125.000	250.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	87.000	174.00

**Item: MULCHING SERVICE**

**Description:** S Miami Rd medians from SE 16 Ct to SE 17 St

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	45.000	90.00
VisualScape, Inc.	2.0000	178.500	357.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,650.000	3,300.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
AR Maintenance Solutions	2.0000	400.000	800.00
Juniper landscaping	2.0000	300.000	600.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	117.000	234.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** SE 17 St Intracoastal Bridge swales from SE 17 St and 17 St

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	458.520	11,921.52
VisualScape, Inc.	26.0000	542.400	14,102.40
Thirty 1 Sixteen Realty and Investments	26.0000	97.200	2,527.20
AR Maintenance Solutions	26.0000	400.000	10,400.00
Juniper landscaping	26.0000	375.000	9,750.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	380.000	9,880.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** SE 17 St Intracoastal Bridge swales from SE 17 St and 17 St

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	1,375.560	20,633.40
VisualScape, Inc.	15.0000	693.600	10,404.00
Thirty 1 Sixteen Realty and Investments	15.0000	85.000	1,275.00
AR Maintenance Solutions	15.0000	1,400.000	21,000.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Juniper landscaping	15.0000	1,400.000	21,000.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	1,310.000	19,650.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** SE 17 St Intracoastal Bridge swales from SE 17 St and 17 St

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	108.000	1,188.00
VisualScape, Inc.	11.0000	296.000	3,256.00
Thirty 1 Sixteen Realty and Investments	11.0000	73.000	803.00
AR Maintenance Solutions	11.0000	325.000	3,575.00
Juniper landscaping	11.0000	200.000	2,200.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	299.000	3,289.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** SE 17 St Intracoastal Bridge swales from SE 17 St and 17 St

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	96.000	96.00
VisualScape, Inc.	1.0000	720.000	720.00
Thirty 1 Sixteen Realty and Investments	1.0000	3,250.000	3,250.00
AR Maintenance Solutions	1.0000	700.000	700.00
Juniper landscaping	1.0000	250.000	250.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	700.000	700.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** SE 17 St Intracoastal Bridge swales from SE 17 St and 17 St

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	96.000	192.00
VisualScape, Inc.	2.0000	900.000	1,800.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,551.000	3,102.00
AR Maintenance Solutions	2.0000	2,000.000	4,000.00
Juniper landscaping	2.0000	1,600.000	3,200.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	2,050.000	4,100.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** SE 17 St Intracoastal Bridge swales from SE 17 St and 17 St

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	1,125.000	2,250.00
VisualScape, Inc.	2.0000	4,284.000	8,568.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,551.000	3,102.00
AR Maintenance Solutions	2.0000	5,000.000	10,000.00
Juniper landscaping	2.0000	4,000.000	8,000.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Rock & Rose Lawn Care LLC	2.0000	4,739.000	9,478.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** Harbour Inlet Dr from SE 17 St to Barbara Drive Medians

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	38.210	993.46
VisualScape, Inc.	26.0000	271.200	7,051.20
Thirty 1 Sixteen Realty and Investments	26.0000	95.000	2,470.00
AR Maintenance Solutions	26.0000	175.000	4,550.00
Juniper landscaping	26.0000	135.000	3,510.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	125.000	3,250.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** Harbour Inlet Dr from SE 17 St to Barbara Drive Medians

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	76.420	1,146.30
VisualScape, Inc.	15.0000	260.100	3,901.50
Thirty 1 Sixteen Realty and Investments	15.0000	83.000	1,245.00
AR Maintenance Solutions	15.0000	450.000	6,750.00
Juniper landscaping	15.0000	500.000	7,500.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	500.000	7,500.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** Harbour Inlet Dr from SE 17 St to Barbara Drive Medians

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	36.000	396.00
VisualScope, Inc.	11.0000	74.000	814.00
Thirty 1 Sixteen Realty and Investments	11.0000	68.000	748.00
AR Maintenance Solutions	11.0000	75.000	825.00
Juniper landscaping	11.0000	75.000	825.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	75.000	825.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** Harbour Inlet Dr from SE 17 St to Barbara Drive Medians

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScope, Inc.	1.0000	54.000	54.00
Thirty 1 Sixteen Realty and Investments	1.0000	3,250.000	3,250.00
AR Maintenance Solutions	1.0000	75.000	75.00
Juniper landscaping	1.0000	55.000	55.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	55.000	55.00

**Item: FERTILIZER SERVICE - SEE NOTES**

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

**Description:** Harbour Inlet Dr from SE 17 St to Barbara Drive Medians

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	45.000	90.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,551.000	3,102.00
AR Maintenance Solutions	2.0000	200.000	400.00
Juniper landscaping	2.0000	150.000	300.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	117.000	234.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** Harbour Inlet Dr from SE 17 St to Barbara Drive Medians

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	225.000	450.00
VisualScape, Inc.	2.0000	1,071.000	2,142.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,551.000	3,102.00
AR Maintenance Solutions	2.0000	700.000	1,400.00
Juniper landscaping	2.0000	500.000	1,000.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	590.000	1,180.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** A1A & Seabreeze Blvd triangle Median: 600-800 Seabreeze Blvd

**Unit of Measure:** EA                      **Quantity:** 26.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	19.110	496.86
VisualScape, Inc.	26.0000	45.200	1,175.20
Thirty 1 Sixteen Realty and Investments	26.0000	95.000	2,470.00
AR Maintenance Solutions	26.0000	50.000	1,300.00
Juniper landscaping	26.0000	40.000	1,040.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	750.000	19,500.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** A1A & Seabreeze Blvd triangle Median: 600-800 Seabreeze Blvd

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	382.100	5,731.50
VisualScape, Inc.	15.0000	1,213.800	18,207.00
Thirty 1 Sixteen Realty and Investments	15.0000	83.000	1,245.00
AR Maintenance Solutions	15.0000	1,800.000	27,000.00
Juniper landscaping	15.0000	1,800.000	27,000.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	1,050.000	15,750.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** A1A & Seabreeze Blvd triangle Median: 600-800 Seabreeze Blvd

**Unit of Measure:** EA                      **Quantity:** 11.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	72.000	792.00
VisualScape, Inc.	11.0000	222.000	2,442.00
Thirty 1 Sixteen Realty and Investments	11.0000	68.000	748.00
AR Maintenance Solutions	11.0000	75.000	825.00
Juniper landscaping	11.0000	35.000	385.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	45.000	495.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** A1A & Seabreeze Blvd triangle Median: 600-800 Seabreeze Blvd

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	540.000	540.00
Thirty 1 Sixteen Realty and Investments	1.0000	3,250.000	3,250.00
AR Maintenance Solutions	1.0000	500.000	500.00
Juniper landscaping	1.0000	300.000	300.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	45.000	45.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** A1A & Seabreeze Blvd triangle Median: 600-800 Seabreeze Blvd

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
VisualScape, Inc.	2.0000	675.000	1,350.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,551.000	3,102.00
AR Maintenance Solutions	2.0000	1,800.000	3,600.00
Juniper landscaping	2.0000	1,500.000	3,000.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	117.000	234.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** A1A & Seabreeze Blvd triangle Median: 600-800 Seabreeze Blvd

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	337.500	675.00
VisualScape, Inc.	2.0000	1,071.000	2,142.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,551.000	3,102.00
AR Maintenance Solutions	2.0000	6,000.000	12,000.00
Juniper landscaping	2.0000	4,500.000	9,000.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	150.000	300.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** SE 2 St/Himmarshee Canal swales on both sides

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	152.840	3,973.84
VisualScape, Inc.	26.0000	632.800	16,452.80

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Thirty 1 Sixteen Realty and Investments	26.0000	95.000	2,470.00
AR Maintenance Solutions	26.0000	400.000	10,400.00
Juniper landscaping	26.0000	300.000	7,800.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	443.000	11,518.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** SE 2 St/Himmarshee Canal swales on both sides

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	72.000	792.00
VisualScape, Inc.	11.0000	111.000	1,221.00
Thirty 1 Sixteen Realty and Investments	11.0000	83.000	913.00
AR Maintenance Solutions	11.0000	175.000	1,925.00
Juniper landscaping	11.0000	75.000	825.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	115.000	1,265.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** SE 2 St/Himmarshee Canal swales on both sides

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	126.000	126.00
Thirty 1 Sixteen Realty and Investments	1.0000	3,250.000	3,250.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
AR Maintenance Solutions	1.0000	150.000	150.00
Juniper landscaping	1.0000	75.000	75.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	120.000	120.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** SE 2 St/Himmarshee Canal swales on both sides

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	225.000	450.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,551.000	3,102.00
AR Maintenance Solutions	2.0000	600.000	1,200.00
Juniper landscaping	2.0000	450.000	900.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	465.000	930.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** SE 2 St/Himmarshee Canal swales on both sides

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	45.000	90.00
VisualScape, Inc.	2.0000	267.750	535.50
Thirty 1 Sixteen Realty and Investments	2.0000	1,551.000	3,102.00
AR Maintenance Solutions	2.0000	950.000	1,900.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Juniper landscaping	2.0000	700.000	1,400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	790.000	1,580.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** Cordova Rd Seawall swale from SE 7 St to SE 11 Ct

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	152.840	3,973.84
VisualScape, Inc.	26.0000	452.000	11,752.00
Thirty 1 Sixteen Realty and Investments	26.0000	115.000	2,990.00
AR Maintenance Solutions	26.0000	400.000	10,400.00
Juniper landscaping	26.0000	135.000	3,510.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	315.000	8,190.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** Cordova Rd Seawall swale from SE 7 St to SE 11 Ct

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	38.210	573.15
VisualScape, Inc.	15.0000	104.040	1,560.60
Thirty 1 Sixteen Realty and Investments	15.0000	98.000	1,470.00
AR Maintenance Solutions	15.0000	250.000	3,750.00
Juniper landscaping	15.0000	150.000	2,250.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	197.000	2,955.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

**Description:** Cordova Rd Seawall swale from SE 7 St to SE 11 Ct

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	36.000	396.00
VisualScape, Inc.	11.0000	74.000	814.00
Thirty 1 Sixteen Realty and Investments	11.0000	87.000	957.00
AR Maintenance Solutions	11.0000	100.000	1,100.00
Juniper landscaping	11.0000	95.000	1,045.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	76.000	836.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** Cordova Rd Seawall swale from SE 7 St to SE 11 Ct

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	126.000	126.00
Thirty 1 Sixteen Realty and Investments	1.0000	3,250.000	3,250.00
AR Maintenance Solutions	1.0000	125.000	125.00
Juniper landscaping	1.0000	75.000	75.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
Rock & Rose Lawn Care LLC	1.0000	125.000	125.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** Cordova Rd Seawall swale from SE 7 St to SE 11 Ct

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	45.000	90.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,625.000	3,250.00
AR Maintenance Solutions	2.0000	250.000	500.00
Juniper landscaping	2.0000	75.000	150.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	117.000	234.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** Cordova Rd Seawall swale from SE 7 St to SE 11 Ct

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	45.000	90.00
VisualScape, Inc.	2.0000	71.400	142.80
Thirty 1 Sixteen Realty and Investments	2.0000	1,625.000	3,250.00
AR Maintenance Solutions	2.0000	250.000	500.00
Juniper landscaping	2.0000	200.000	400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	197.000	394.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** SR 84 from Andrews Ave to Federal Hwy median

**Unit of Measure:** EA                      **Quantity:** 26.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	38.210	993.46
VisualScope, Inc.	26.0000	9.040	235.04
Thirty 1 Sixteen Realty and Investments	26.0000	115.000	2,990.00
AR Maintenance Solutions	26.0000	75.000	1,950.00
Juniper landscaping	26.0000	75.000	1,950.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	35.000	910.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** SR 84 from Andrews Ave to Federal Hwy median

**Unit of Measure:** EA                      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	38.210	573.15
VisualScope, Inc.	15.0000	34.680	520.20
Thirty 1 Sixteen Realty and Investments	15.0000	98.000	1,470.00
AR Maintenance Solutions	15.0000	75.000	1,125.00
Juniper landscaping	15.0000	35.000	525.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	65.000	975.00

**Item: ADDT'L WEED & TRASH SVC-SEE NOTE**

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

**Description:** SR 84 from Andrews Ave to Federal Hwy median

**Unit of Measure:** EA                      **Quantity:** 11.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	11.0000	36.000	396.00
VisualScape, Inc.	11.0000	7.400	81.40
Thirty 1 Sixteen Realty and Investments	11.0000	87.000	957.00
AR Maintenance Solutions	11.0000	50.000	550.00
Juniper landscaping	11.0000	35.000	385.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	11.0000	20.000	220.00

**Item: PRE-EMERGENT SERVICE - SEE NOTES**

**Description:** SR 84 from Andrews Ave to Federal Hwy median

**Unit of Measure:** EA                      **Quantity:** 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	48.000	48.00
VisualScape, Inc.	1.0000	90.000	90.00
Thirty 1 Sixteen Realty and Investments	1.0000	3,250.000	3,250.00
AR Maintenance Solutions	1.0000	25.000	25.00
Juniper landscaping	1.0000	35.000	35.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	1.0000	20.000	20.00

**Item: FERTILIZER SERVICE - SEE NOTES**

**Description:** SR 84 from Andrews Ave to Federal Hwy median

**Unit of Measure:** EA                      **Quantity:** 2.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	48.000	96.00
VisualScape, Inc.	2.0000	11.250	22.50
Thirty 1 Sixteen Realty and Investments	2.0000	1,625.000	3,250.00
AR Maintenance Solutions	2.0000	100.000	200.00
Juniper landscaping	2.0000	75.000	150.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	65.000	130.00

**Item: MULCHING SERVICE - SEE NOTES**

**Description:** SR 84 from Andrews Ave to Federal Hwy median

**Unit of Measure:** EA                      **Quantity:** 2.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2.0000	90.000	180.00
VisualScape, Inc.	2.0000	102.000	204.00
Thirty 1 Sixteen Realty and Investments	2.0000	1,625.000	3,250.00
AR Maintenance Solutions	2.0000	250.000	500.00
Juniper landscaping	2.0000	200.000	400.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	2.0000	250.000	500.00

**Item: MOW SERVICE - SEE NOTES**

**Description:** PUMP STATION D-44 1650 SE 15 av

**Unit of Measure:** EA                      **Quantity:** 26.0000

Tabulation Of Bids For Event # 385: Turf Grass Maintenance SE

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	26.0000	38.210	993.46
VisualScape, Inc.	26.0000	1,567.540	40,756.04
Thirty 1 Sixteen Realty and Investments	26.0000	115.000	2,990.00
AR Maintenance Solutions	26.0000	100.000	2,600.00
Juniper landscaping	26.0000	60.000	1,560.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	26.0000	65.000	1,690.00

**Item: HEDGE SERVICE - SEE NOTES**

**Description:** SE 2 St/Himmarshee Canal swales on both sides

**Unit of Measure:** EA      **Quantity:** 15.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	15.0000	229.260	3,438.90
VisualScape, Inc.	15.0000	121.380	1,820.70
Thirty 1 Sixteen Realty and Investments	15.0000	98.000	1,470.00
AR Maintenance Solutions	15.0000	125.000	1,875.00
Juniper landscaping	15.0000	420.000	6,300.00
NJ&S Pressure Washing and Painting, LLC (No bid)	0.0000	0.000	0.00
Rock & Rose Lawn Care LLC	15.0000	150.000	2,250.00